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                        Let-5    

6.3 Calculating  of  division   

We can calculate division 

vertically  

 



     

 

 

 

 



 

 
Ans: 

1.4     2.4      3.8     4.10 

 

## There are 15 biscuits. We share 

these biscuits among 3 children. How 

many biscuits will each of child get? 

 



Soln: 

                  3 children get  15 biscuits 

Therefore 1 child get (15÷3)biscuits 

                                       =5 biscuits. 

Ans: 5 biscuits. 

                       

                             The end 


